1. KaneHgapHbIv y4eOHbIV rpaduk
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2. CBoAHblE AaHHble
Kypc 1 Kypc 2 Kypc 3 Kypc 4 Wroro
ceM. 1| cem. 2| Beero | cem. 1| cem. 2| Bcero | cem. 1| cem. 2| Bcero | cem. 1| cem. 2 | Bcero
TeopeTnyeckoe 0by4yeHne 14 18 32 14 18 32 14 18 32 14 7 21 117
D |9K3aMeHauMNOHHbIE ceccum 3 5 8 3 5 8 3 2 5 3 4 7 28
Y [YuebHas npakTuka 4 4 4
M [MNpou3BoacTBeHHas W/vnu NpegannioMHasl NpakTMKka 6 6 6
I [FocypapcTBeHHas UTorosas aTrectauus 6 6 6
K |KaHukynbl 0 10 10 0 10 10 0 9 9 0 10 10 39
B |HMNA 2 0 2 2 0 2 2 0 2 2 0 2 8
UToro 19 33 52 19 33 52 19 33 52 19 33 52 208
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